12/27RHE 2014CL2-3EPAEE; &R

=15 Bl 45 BF CL2%p A7 CL3%}
10:00~ XET% :) : 2 X &R
T 248
s KRHLR Z6AR
12:00~ I\ 5 - ; AN § ol
X\ 28R
10:00~ =+t : : (1) WHEE
e A E R XFL 2HEE
E2G 0 _ 0
12:00~ $&7E2nd ” - 1 X ERfF2ndB
XEEF2nd 2%




2014 FroEXVX)—JREARU-18 358 /\—FAIIELL

11/ \—F
i ) 8 = s K = Bz
FEAEAhA 4 0 1 12 14 5 9 1
HEARERF2ndB 2 2 1 8 6 4 2 2
WEHER 2 1 2 7 6 6 0 3
BEAREfF2ndA 2 0 3 6 7 9 -2 4
IANRITE 1 2 2 5 8 12 -4 5
FEEE4hB 1 1 3 4 5 10 -5 6
261/8—p
i ) 8 = s K = Bz
KED 3 1 1 10 15 4 11 1
KXET#2nd 3 1 1 10 6 5 1 2
HEEH2NdA 2 3 0 9 10 4 6 3
XE 2 0 3 6 11 17 -6 4
JLN R 1 1 3 4 9 10 -1 5
5 1 0 4 3 5 16 -11 6
3/ 88—k
% ) 8 = s K = Bz
FEKX{F3rd 4 0 1 12 9 3 6 1
$E 7 3rd 3 1 1 10 8 4 4 2
RRAE%E2nd 3 0 2 9 11 2 9 3
REARIL 2 1 2 7 8 6 2 4
N 2 0 3 6 7 10 -3 5
TYAZE 0 0 5 0 4 21 -17 6
4B/ \—b
% 7 8 i3 (3! KA = Bz
REAR 3 1 1 10 14 6 8 1
EX 3 1 1 10 9 6 3 2
HEEH2ndB 3 0 2 9 12 11 1 3
£ 2 1 2 7 10 9 1 4
BERXEH2nd 2 0 3 6 10 10 0 5
it 0 1 4 1 2 15 -13 6
5f1/8—pk
% 7 8 i3 (3! KA = Bz
BA#i2nd 4 1 0 13 12 2 10 1
ZEX 4 0 1 12 11 4 7 2
REAEZE2nd 2 0 3 6 9 8 1 3
HEART #3rdB 2 0 3 6 6 11 -5 4
IREET ¥ 1 1 3 4 7 13 -6 5
HEARTE 1 0 4 3 5 12 -7 6
64/ N—pk
B 7 8 B Ba K = &L
fE e 4 0 1 12 17 10 7 1
F£— 3 1 1 10 9 5 4 2
HH 2 1 2 7 12 13 -1 3
R 8% o g 2 0 3 6 7 7 0 4
X {E2nd 1 2 2 5 8 7 1 5
KR 1 0 4 3 9 20 -11 6
TH1/8—k
B 7 8 B = /e E = JE L
BEEAT E2ndA 3 0 1 9 14 3 11 1
E42nd 2 1 1 7 6 5 1 2
EEREA 2 0 2 6 5 5 0 3
ININTZE 1 1 2 4 3 5 -2 4
BAEL 0 2 2 2 3 13 -10 5
Wig




153

-2
-4

9
-5

12

5
10

14

8 |BR[fr| &R &

PAY

%

FEE4hB

FERE4hA

J\RIE

REAREIRF2ndA

REAREfF2ndB

o|m ~

IARI%X | @

2014 FrUEADX)—TREARU-18 38 /N—FRIEDMER

18—k 28T

REAERF2ndB| A
HREAREFF2ndA| @

FE4hA | O
FEE4MhB | O

153
153
153
153
JRfE

-6

=17

-13
10

17
21
10
10
15
10
13

15
10
14
12
17
12

IREL

10
10
13
12
-10

ERLE LR ETES
8 |BR[fr| &R &
ERLEEERESES
ERLEEEREREES
ERLEEEREREES

13

'y

71

B S

PAY
PAY
PAY
Z

B

2]
2]
%
B
B

ERELL

0)

5
$8753rd
ZRK
B

FERLIE
BELES

B

0
2
2

FEX3rd
(o
(o
REARE
(
9
1

FEEM2ndA
BEARTI$2ndA

FUNERBE
BE
B

=

(

AR E2nd
BEEATE3rdB

KETI ¥2nd
RiBEH2ndB
REAEE2nd
X fE2nd
FE#£2nd

XEB
i

BEAL
it
MITE

RETX

0
0

RE
ki
0

<Y RANEE
Bi%r2nd
(2
BAEL
(

FREH2nd

O
O

XE
Bi%T2nd

kg

e

#2EX | O

$EFE3rd

IMITE (A
=

BEARE%¥2nd| O
FEKRf3rd | O
BEREHZ2nd
KEIX (A
AN | @
BEABEL

XEI¥ond| @
AR [ O
TYRMEE

260/8—b SHIRT
ABR—b SEIRT
S56I/8—b SHIHRT
Th/ =k £HiT

3RI/R—b SHEIRT
6B/ S—b SHEIRT

HERI#3rdB| @
BEAT %2ndA| O

HiEEM2ndA| O
REEH2ndB| @



2014 FroEXVX)—JREARU-18 358 /\—FAIIELL

A/N—p D/s—Fk
Bl o BIBR|ER Xa = | B Bl o BIBR|ES X8 = | B
DAz 411 1] 13| 29 9 20| 1 J\RT% 5/1|0| 16 | 19 4 | 15| 1
XE 411 11] 13 ] 11 3 8 2 JLIN R 5/0| 1| 15 | 18 5 | 13] 2
TYRMEE 4102|121 14| 8 6 3 BEAREF2nd 4102|1212 15 | -3| 3
BEXE£2nd 3103 9 20 | 8 | 12| 4 HEAR 212 2| 8 9 8 1 4
B%r2nd 21|13 17 9 8 1 5 RE AT #3rdB 2104 6 6 | 13 |-71| 5
K& 111]4] 4 4 | 27 |-23| 6 F— 111 4] 4 8 13 |-5] 6
R 1/0|5] 3 4 | 28 |-24| 7 E42nd ojo|6| 0 4 | 18 |-14] 7
B/y\—k E/\—k
Bl o Bl BR|ER Xxa = | B Bl o Bl BR|EE Xxa = | B
HE AR EfF2ndB 5/110]| 16 | 21 1 20| 1 FEEE4thA 6|00 18 16| 2 |14 1
K EB 5/01| 15 | 19 7 12| 2 BBKPEAEBEN2ndA] 4 | 1] 1| 13 | 13 3 10| 2
REARTE 3|12 10] 12| 5 | 7 3 FEX{F3rd 321 11|17 7 | 10| 3
it 3103 9 6 20 [-14| 4 REARE_Z 211]13] 17 10 | 8 2 4
BRET ¥ 2113 7 7 12 | 5] 5 REARTE 2013 7 6 11 |-5] 5
fifia 1114] 4 7 |13 |-6| 6 A 1105 3 8 | 26 |-18] 6
BEAET 0j/o0|6] 0 0 14 |-14| 1 BEEAR 0| 1]5]| 1 5 18 |-13]| 7
C/i—F Fs8—k
Bl o Bl BR|ER xa = | B Bl o Bl BR|EE Xxa = | B
REAEFF2ndA 6|00 18] 17| o | 17| 1 FEEE4thB 6|01 1819 7 |12 1
KE T #2nd 31210 12] 6 | 6 2 5 5/ 11| 16|22 7 |15 2
N 312 10 ] 10 5 5 3 $8753rd 4121|1413 | 10 | 3 3
BBKRZEMNEEMN2ndB| 3| 1| 2] 10 7 7 0 4 FHITE 411,213 |15 | 15| 0 4
REARRE % 2nd 21|37 9 | 13 | -4| 5 ZREK 3|04 9 9 8 1 5
3 {E2nd 2/10| 4| 6 7 12 | -5 6 FAT 8% o 2 2/0/5| 6 8 15 | -7] 6
INITE ojo|6] o 2 | 21 |-19] 7 REAR T %3rdA 110[6[ 3 6 | 13 | -7| 7
WiE 106 3 9 | 26 |-17]| 8




353
353
353

[353

20
-23
-24
12
-14
-14
-6
-5
20
-4
-5
-19

27
28
20
14
13
12
13
12
21

29
14
20
12
21
12
10

13
12
10
16
10
10

& |BR[8r|%xs] =
& |BR[8R|%R] =
& |BR|BR|&R] =

g
B
Ay

EEIENLETEEESES

B
B
[

%

FA#r2nd

REAREFF2AdB
FRiBRFREMN2ndB

HER T %8ddB

0)
0)

BEXEH2nd
(2
HRETX
(2
A&

0)
0)
)

XE
i
MITE

(2
(2
(2

I\RIZE

BABT
0)
Xi#&2nd

(

FE#&2nd

0)

(

KR

RKEIF2nd

ERIET

0

<YAEE
REAAEE2nd

(

BEARE2d

i

7))
3
5
2)
3

PAEE
3
(o
(o

REARIL
o
0
o
0
o
0
0
0
o

REAERZAA

A
[ ]

:
it

PA:D
kg
BEAd
2ndB
2ndA

EAEX2d | @

i
MITE | @

JYREE | O
HEIX | @
REARERF
REARERF

X fE2nd
22ndB

BA#T2nd

2014 FrUEFYXY—JRRAFU-18 388 /<—FRIIRESL

AsS—F
XEI#o2d| @

HEXE£L2nd| @
B/{—F
C/i—k
TEXEHR
D/3—p

:
it

[353

15
=7
-17
=7

15
13
26
15
10

22

[353

-3
13
-14
-5
-7
-13
-18
16
13
14

A [BR[SR[&R] £

15
18
13
13
18
26

12
18

2

12
15

PHENLILERETES
B

(0 — 2)

FEfE4thB

%

FEE4thA
$8FE3rd

(

-0
- 0)
2)

94

LS
4
(3

(2

0)
2)
0)

BERE
2 —
(o —
(o
18
(4 —
(3
(2
(o -

(o]

1
0)
0o — 3
(0 —2)
2 — 1
(0 —0)

(2 —0)
1
(0 —0)
(o
1

(

RiEAFH BEM2A
AT RTA

O)O

BAEZ
EXEE]

RERE

6
0
0
0
0

2
5
o
o
o
(o
(o
1
(o
3
EEES
3
0
1
(o

FEX{F3rd

[ ]
[ ]
A
(0]

AMEBE | O
ANRI%E (A
AT
3rdB
RERE
HEX | @
FEEAhA | O
FRA
EF&I% |O
BATSE
3rdA
S
F#FR | @
$#753rd
FEREAhB | O

EH2ndA

E#&2nd
FEK3rd
BAEZ
HBERZAR

=

REARREE2d | O

E/S—k
F7i—p



